e S SRR
) \ Y. N 5>
ANz e VAN e

SIS eSO NE

- ;\\\\_\\\’\\. 5\\\(§ GBI

L “5”/2):’ NN g

~ = R AN (R S
Ry 12

) 2 all [( )R == :ﬂ & s
e = B s DD\ \S

O\ A S SSNESSRE )
AL Gl

W T b BRI A F R KA 3 FERAERS 4 B M|
2087 MR BEHE N

T % % RAURBILT =

XmES 10 - 1 i R | 1:50, 000

% i & T

EHRMEER KARHDHIHAEEREZ LN CZE |

W\ N 22X = ANE I~




I Aoo# I
= | #tESLT

RS LT

m

® i

=)

R7EHEI R
Nol FRAHIEX ST LT

H=6.0mL=24.0m V=282.3 m3 W= 1.5t

£ &

sMm 7 &F

& 4

¥ E M

It

RERLREGATRC KA SFRET 4 BAHNGTHIERA

IZE4

B AR OB LT E

REES

10-2 & R 1:1,000

® A

E

R HFHEER |AMANKATER LIFCXE




#it woE X

® R

A 3 FRHRA

R HFmEER [KNBSHETER LIFEXE

FOBE B[ E

/S

&k FEE E




No.1 FARRRSYLL ¥ &

BlE E

i HEE (R

EL=324 31

EL=322. 41

EL=320. 41

llmﬂ)ll

EL=316.41

LRERSER . THRERSBER
kiR LHEUIE

TRERRES

FEHR
¢

- 3 57 FE

@ & | No 1TARAHIEXABLSLT #HER
T i BERLRERAZACAEA SFRIRON EAROTH IR
- g "R AW I =
HEES 10-4 & R 1:100
& a & NEE
R HFHEER |ARAPEHEEE LINCEE




Mo | BABEABUSLT # Hl B

EL=322.41

EL=316.41

on) losls] 1u 18 i3 @l 1% |bd 2w

o0 @ 0 00 000

N 4

a7 FE

&4

No. 1AMIBIALF LT EHIR

% I i

BRERTHETAFRCASH 3 FRERN 4 BARNCTHIBEA

I%4

#®O2

R

AW T B

HEES

10-5

8

R 1:100

®EtE

HEE

REBZHEER

ARABHEHNET LIFCXT]




EER @

No.1 BABRKALS LI B#ERVERE

IE
(& f)

EFE @

LY I Y N,

0.57] 0.93 | 1.05 0.6_5| L7 0.93 §0.58)  1.%0

o0 ®© 00 @

214

(O] ®@

No.1 2Yw FFLT MERVERE

(F & #)

& &

am 7 FE

[EI T

No.1 AR AUSLT BBERVERR

T #h

PERLAETXFHEAEN 3R 4 ENH00THEEA

IE%

i

R AW I =

HEES

10-6

8 R

1:100

® i

HEE

REBHREER

AESEHEEE HIECXE




No. 1 RABRLBLSLT 3 # K

B &P

0.010 0.150

RAN RS
AA

0.121

~ #
”?/4‘f 2318, 5x10. 3

N

!
-7-0.012 0.500 0.012-1—

B-B

0.03 0.032

=2

H
ﬂ%f

WV Y-+ Mgavyy—+

R=2FL—F}

Li PL-9

0.700 ~10.012 g 0.012- S

w=A V7 VH—RER HERRE
&) F—IA VT Uh—ELUERIERBICTFROCE ) ERFRAEOHAREHEEARE CTHFSRICRF Toh— 2 & [set
Bg 2 W [set

aR avyy—+k 0.015 f /set

MREREH B 0.0 i /et
PL-16 . 5

0.100

w=IA VT oh—

075
22 7 N

HRREH 4
0016 |

2 PL-16_

16

0.

T E S 7 EE

m m % | No. 1HAHERERXALALT FHHEX
500x500x12 /

T Hh | HESLREGEATROKEN SERRRI 4 EER0STHIERA

R=ZTL—F
4”-9/—' ; I x4 B & R B WL I =
HmEm&ES 10-7 i R 1:20
%At E b1 &
Rl HZMHKEBER |[AMENFHERE LMILCRE

0.641

0.475 0.050




FRERREZERER I/ = 4 R B £ & & K 1/10

0.20

BE (REEAY) B

FROOFR . 470058

OO0R h.002v%Y - LT
OOR lo.00a ¥4 Y— hALT]
1= H=0. Om L=00. Om V=000. Om3
- B R
S 0 0 O ZHEEERLE
EI&EO0O O O

0.30 0.10

2 @ 0.40

-
08

RETOORMHERENIIRE
EI#%O0 O O

0.55

% i b
£ @ =19mm

BE (B&£EAY) B # SRRk
s fi=5cm, #40cm | #=40cm, #=B5cm | #=20cm, #=2cm
I # B E £ B & 1/100 SHERAABE 1/100 =1, 0cm Ba=l.0om B=1.00cm

0.52 B |l7rzeesg|l7rzegses

(W ) (BUKESER) ==

_Q'QIQ_

BIEE 4 = S FE
F——" > 7]

1 No.1RYw R LT
0 50 Ao BEMA

69
—a—’e \ V1/ FRAGEHEES

| — \ (RESBDIGE) BAKBESR | S >< ] ﬁ;;ézig LNAEEE
v 7S

0. 30 FokAE 2 0

o

£ E S 7 EE

X m 4 5 B EEZEREX

ME L Hh | AERAREGATHCAEASTEERIMERHOSHITER

IE4A B 2R = 1 -~
) 1% HME&ES 10-8 e R X
E&=10mm ZEtE HEE

JE&=5mm 1E=200mm HIEHZFMHEER |[XRRBSHEEE LIWECXE




Lip2zEsIAv P

900

900

(AEAREL) B oA 7 ’
E@ARE SR KikiHERR (WL
450 900 AR i EHK
7N LS P s -
N \J> S SN 450 900 450
I I nER A i ; :
: : 12 ABER = : !
; ; 175 s Bk _ 41, ! !
1 — o T~
i : |8 + A & + =
| 1 i IR WA V9 54 VEER b
405 9!0‘ 810 ‘dlo‘ 405 30 ! !
. 7 EAZ | | ] |
i A \\/ & 450 900 450 405 9o 810 90 405
——— HF—— 1 |3 8 400
e/ S~ 3 . ”/Iéﬁ S
| S 17 KSEEE (RARR)
BALIM T E o o r ! :’Pg E@dH
—_— 1 RERE -
| || o ; 8 450 900 450
405 810 405 < ] NE
90 1800 90 T o
= ? ?
- A o —EH o
LS HERER 500 500 | 500 ~ 300 Ve i\ f
8 8 /
I @K s s ks +
450 900 450 TN A ?
#he | | 4.» :
#A- = ? t
° ° — 400. 00
o 490. 00
- - N £ SH 7 EE
S Hma K& BRI EEF
° ° g fo T fh | #ERLHRETAEECARASEEERNMEEH067HIRA
| || || | B s YN
405 ‘90‘ 810 ‘90‘ 405 I $ % *E zuI\ IR 8 IJ-I I $
BEMERARILBER 1#% (1.8mx0. 9m) = 10- o {9
T = B R 2 | BEEE B = REES 09 | #& R - 20
AR (CKFEEL) ¢ 100mm  L=90mm 2| K o= i
BAKEEL) ¢ 110mm _L=1, 800mm o & A ]
HREEZ ¢4.5m_L=75m 18| & HLLBRMEED [ XREPEHEEE LINCRE
fERA##E 0.08

X (EAMIEI0m2E7- Y5, 185m3




AXR-—FHIRER

fl & X
% 0
SLR(YFXE)

!

0.80

!

S N

£ E 57 F£E

| % 7 =

it T ih HER BT AERCARASERERAEAH0OTRIER
IE4 | OE R
HE&ES 10-10 e

B I =

R 1: 20
it E WE
RIHZFMEERE |[XMEPFHEEE LIC-XE




